Date:- 18.09.2024 Time : 03hrs. Marks : 100

WRITTEN TEST FOR JE (PW) LEVEL-6 ON COMPASSIONATE GROUND
IN ENGINEERING DEPARTMENT

Question paper comprises two parts. Part-1 Objective Questions 40 number each of 01 mark
( Total 40 marks ) and Part-11 Subjective(Technical) questions 06 number each of 10 marks
( Total 60 marks) .

!\)

All Questions are compulsory.
3 All the unused pages of answer book at the end of examination should be crossed.

4. Mobiles / Pager /calculator etc. are not allowed in the examination hall, otherwise candidate will
be debarred from the examination.

5 Candidate should use only blue or black pen for writing the exam.

6. Answers should be written in any one language either in Hindi or English.

7. In case of any ambiguity, English version of question paper should be taken as Authentic.
8. In the answers to objective type questions. no corrections of any type are permitted.

9. [Except answers nothing should be written in answer sheet.

Part-1 :- Objective Type ( Total Question 40 nos. )
(Each question carries 01 mark)

E Q.1 \ The father of Green Revolution is & zha it % S g
| Ans A) M.S. Swaminathan THTHI ETHATIT

B) Verghese Kurain FIH iﬁ'&?

C) V.L. Chopra #1.qe. FTIET

D) None of these = H q F Tl

|

[ Q.2 The term Swachhata Pakhawads relates to
| | e TS 975% FAE A 87

|
|

A) Eradicaﬁon of corruption FETATT T I T
B)Cleanliness and hygiene HTH-THTS Ud Toadl
C) Highway density TTSTH NRCGE!
D) None of this 378 & TS TRl
1
- I
Q3 \ Who is the present Chief Justice of India

TS U S TR e

~

| TR 3 AT e AT 4 &7
Ans A) Justice Agrawal wie=a ¥aT

\ }31 é

I
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RO, ._,.__—_—.—.-——__——______.A—-———,.__—___-____—————

1By Justice Chandrachud e 9548
() Justice Natrajan ey ASH 1
D) Justice Ramana sTieea T

e e

The F%rs‘g_’[ygi‘rliln_lndia ran on? AL T qgell ElEE] El

ndiaranoOn” =2 - o ———

ey i ISR,
A) 16.4.1853 B) 16.04.1955 C) 16.04.1963 D) None of the above

1o

T
Whose birthday is celebrated as Engineer’s day in India
ﬁﬂﬂaﬂ%ﬁmﬁéﬁﬁmﬁw%wﬁmw%

A) Dr. Radha Krishnan =t T FOE
B) HomiJ Bhaba @Tﬁ I ATAT
C) Sir M Visvesvarya g {3 T

i D)EPEQEH‘JSS&@M

e

RSTREESS

: I
Who is the present minister of Indian Railways i\

ST Xt 3 AT A A 37

A) Shri Suresh Prabhu =T TXI T4

B) Shri Piyush Goyal ofy g I
C) Ashwini Vaishnay =T o o

D)None of these Esikil ¥ FTE A8 _.,#_,._4_/,:“

5 ,

The Headquarter of Central Railway is at ‘1

e e T e T2t 27 l

| Ans | A) Bhusaval 53 @@ _B) Mumbai g C) Pune D) Nagpur FTTIE

5 e puprie s g st e R 'A_,'«’___’_—__,..-—vg,—-_,_,*‘_,l_o—»ﬂ-—>ﬁ——/’_,//
Who is known as “The Iron Man of India™

AT @ﬁg@"%mﬁ%ﬁww%

A) Shri M.K. Gandhi ofy T %, AT

B) Shri Morarji Desai ofy FIOTE 29T8

C) Sardar Vallabhbhai Patel TR FEANITE T

D) None of these EL AT —

)i iakab B il et

___,f/_,_.___l

e e
Who is the national animal of India STXT &7 TR T4 ﬁj_%’?

ephant gT?fT B) Tiger aTx C)Peacock



The second law of motion gives us a measure of which of the following physical quantities
Wﬁmmﬁwgﬁﬁaﬁrﬁﬁﬁﬁ%ﬁmﬁﬁaﬁr@mmém%
A_)_Acce\eration gvol B)Power g1f=r C) Force D)Work done T U g

I the length of the shadow of a tower is increasing , then the angle of elevation of the sun

i§-----

vﬁ%ﬁﬁwﬁmﬁmaﬁ@%ﬁ,ﬁqﬁaﬁrmﬁm% -----

A) Have no relation- ship TS TaG TR
B) decreasing ®< T&T -

| C)increasing 98 =R

F{ | D)None of these =y T H5 F\"@

OLtnGse an s Y s e

Q.13 Find the odd man out 6,9, 15,21, 24,28, 30
- 6,9,15,21,24,28,30ﬁ%f%maqﬁﬁma‘%ﬁm ‘ |
Ans_[A)24 B)28 €)30 D)2l

foer
1

e e e et

L Q.14 | Find the wrong number in the series 1, 1,2, 6, 24,96, 720
st 1, 1,2, 6, 24,96, 720 ¥ T HEAT T &L
A)720 _B)9%6 )24 D)6

S amtamoes el g
| Q.15 | Insert the missing number 7, 26, 63 124,215 343, ( — )
| e 7,26.65, 124,215, 343, (o) ¥

L DR A S L

Ans |A)391 B42L 481 DISIL

5, o— i i o st e e ST o A A e .,.._A__,..___._,_,‘__.____V...___,__,___‘_-'___.‘_ S ,__,—‘__.—.f.,_——._‘___-.___’___‘_’______._—’———'——'_’_—‘—

| Q.16 | 1f anumber when divided by 4, is reduced by 21, the number is
ﬁﬁﬁﬁwﬁzﬁ%wﬁﬂﬁvm 1 21 ST, A1 98 Hell 7

A) 18 B)20 C)28 D)38

B s - T T
Q.17 | The sum of two numbers is 25 and their difference is 13. Find their product?

%Wﬁm@w%%ﬁ@mm%lwmﬁﬁm

el Bt L SESRE S

| Ans [A)104 B) 114 C)315 D)325

e

Q.18 | The number with which 82 is multiplied so that product remains the same?
ag;‘rwﬁr&r@mza?r T T T SO FE TEaT 8
Ans | A)82 B)0 C)1/82 D) 1 - '
| 0.19 | Which of the t%’ild&fingﬁﬁ?ﬁ%ﬁ?&?@&iﬁéﬁ{ié'r'e‘”’ﬂ‘”_“‘waﬂffﬂr
O |PepRmrasm S
A)36 By8l €)37 DiBomh AGB

R

e S ,__,_,__-____,.,___’____,._——’-——




Q.21

What is the friction of one meter is 10 ¢cm

T HT2T T For 10 FdY Rt grar 29

| Ans__ | A) 1/10 B) 1/100 C) 100/100 D) 9/100
Q22 [ Umpireis CRICKET as is to HOCKEY
Ans | A) Player =TT B) Captain FHT9 C)Referee XHT D) Spectator Z9fF
Q.23 | Which is the odd month out FI¥ &T ssfg TET &7
Ans | A) March #T< B) April s C) May ¥€ D) July oS
Q24 | Pick the odd man out st < F T4
Ans | A) Bow! #2IXT_B) Plate WIE C) Spoon FFHF D) Table Zaer
Q.25 | Hands are to GLOVES as LEGS are 31 &% g1 EAR G g i aeaA H g §
Ans__| A)Shoes 9 B) Socks HTST C) Sandals #=¢ D) Boots I
| Q.26 | Which of the neighboring countries share longest border with India
I I HT TETHT 397 HTXT 5 AT T St ST /T e -
Ans | A) China &I B) Bangladesh FiveTa4r C) Pakistan qTTeheaT D) Afghanistan AT
FQ-27 Gypsum used in cement manufacturing acts as- HHe fRafor & B s F71F F7q &
Ans A) accelerator 7% B) air entraining agent aTg Y4 C) Plasticizer TITReATZAT
D) retarder Ha=
Q.28 | The characteristic compressive strength of M20 grade of concrete is
i % M20 I it fasroar afts ofwr 2 ,
Ans | A)10 N/mm’ B) 15 N/mm’ C) 20 N/mm’ D) 25 N/mm*
i ()‘.ji)w‘WSolve the linear equation (1) 2x-y=2 (2) X+3y=15
| T e e A (1) 2x-y=2 (2) x+3y=15
Ans | A) X=4 Y=3 B)X=3 Y=5 C)X=5 Y=3 D)X=3 Y=4
Q.30 | Find the odd activity out fares Tfrfafr &7 waT srra
ANS | A) Talking ITd FIATB) Walking ST C) Sleeping FTHTD) Running 21T
Q.31 | Mis the son of P. Q is the granddaughter of O who is the husband of P. How is M related
to 07 :
M, PFT T 21 Q. 0 T WIeft & S T U 81 M T 0 & F Hajer &
Ans A) Son==T B) Daughter Cral C) Mother AT D) Father foaT

R
sl
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0.32 “TA ladder 15 metres long just reaches the top of a vertical wall. If the ladder makes an angle
of 600 with the wall, then the height of the wall will be-
15%#@@%@3%‘?&1%%@@%@%%\ 7f dEr S & 600 FT
10T FATEY &, 1 Srare i FATE ERA-

Ans A)10.0 m B)7.5m C)12.0 m D)15.0 m

![ Q.33 | Olympic 2024 held in which country
| et 2024 Frr 30 7 Ao gem
TA)Russia = _B) Londan &= _C)Paris 1% D) Germany AT

How r'ﬁ;n?*nﬁ{e@‘lé—\i\/m by India in olympics 2024
Areifirs 2024 F T A Frae gweh S{a?
En_s. L T Ml kit E

Q“‘Slllm\ manA\wowd% are there in the English alphabet and name them 23S FUTHTAT § ERE]
i =7 § AT 3F AT gdT?
Ans | A) 26 B) 5 C)6 D) None of these

Q.36 | How many continents are there in the world? T ¥ frar AETEId 87
Ans | A) 05 B) 07 T 10 D) 8

S eSS

Nany"lv;the largést planet of our Solar System? ~_’*ﬁ%¥ﬁﬁ I3 U8 T AT Farq?
A) Jupiter Wﬁf B) Mars T C) Moon HeHT D) Neptune

Who is the first citizen of India?. WTXd T TIH TG i %Q
A) Prime Minister T&TT e B) Home Minister & CET
o oo G Pttt India #TCT % TEAR D) Chief Minister T=TAT

I s e SR e N

rie inln o S TR TR 2
A) 05 B) 07 C) 08 D)3

T\—:Q;’()#W_ How many Union Territories are there in India? T | ELE
A

I _ ‘
| Q40 ‘ What type of gas is absorbed by plants? CICRED LIRS WM__

o = =
Ans | A) Oxygen SIS B) Carbon Dioxide FTa STEAFITEE
EA C) Nitrogen Gl %F;; ST D) Sulpher Dioxide 9 c:_‘?_ﬂ;_éi[%'_ﬂ;l T %S -
ég;gi}\,j
i
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Part-11 Subjective(Technical)- (All questions are compulsory)

( 10 marks for each question)

Explain the difference between renewable and non-renewable energy. Give 03 major sources of |
each type?

TR IR ARG ol & 4 SR WP $Y YIS UPR o 03 WG HId <l

What is Hooke's law ?

& I (g9 T 5 |

Explain the difference between deep and shallow foundations?

TS 3R ST -id & oid 3R

T Sroer ST TR 3 80T ST Y SATEAT FX AT 8 S 1 A (A A

Explain the field application of compaction test result and how to control Field compaction?

|

Explain in detail corrosion monitoring technique for reinforcement and preventive measures against
corrosion?

ﬁw%@@wﬁﬁmm%mﬁwwm%aﬁﬁﬁﬁﬁﬁ
FATI?

Siélﬂéiih‘c‘"prilnéry and secondary objectives of material management?

,\
T
|

ATE e 3wt o fedas e aare?
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